Pi X , O L X 2 7 es
f[x),

| ]/ ?"424- Z

(
-7 7t /tmm(

/~0 7/‘) /)75/'0 % /lﬂd/ﬂﬂ{ es (a/a{/é/ Sy Serie

de EOUHC\/

fcx) - [1; ffugj Az
-e

il:{[ J:’Cvs(e)
+[ ]5&»(@)}

m —
6,

' @/mémox an:
ff(';/m[u;)dg

-

U
-~ /U

/ d

= —j os(n§/de +Lf§cas (ng)dg
/C | 7% —_~—

S dve Coyengidg 0 X garkes

1;0( V= Seninwg)

|\ \l



- 7T
. [»Conni))/ - L le(nEl l
i P Zint 0

n
SRR 1)
7int

’ (A/m/ﬁWWOI 22
a.: 2 j fs dg

X Fbﬁ‘:es

7c
4 n U= d\/ = &nCW?) dF
T, B TR TN
76 ZL

J[*ZM/ ¢ J woeds)
7T n by 1

0

p "
N e )
”n 0

7 n



n

T Slze0 ) 1 =E7)
. F 0

n+) Bl
) 60T sa(nz) 0, » par
n=1 A 2 A ympor

= X r¥ ), X 2, CoScnx)
“ N impar an*

~ u+l
+2, C0 Ssentn y)
n=| 4

1 =27 2o

— L
Muere <0 /&amaf X= o0

5
A
P‘A

S




Yz { L xefo 7/z)
7([2'/):
ya ) Zé(ﬂ/z./’/'f]

E)(TCAWM{S/\?&P& 9)04 Sec (;w\/))ar.'

A« [—/-C’n‘)l.j
- O_ﬁ____
=7 -7t/2 1 2
< 5 } 9
! 7T /2 7T
0 -2

Y
g o xeoen

“f(-x) X € [-% o)
SIMETrito €S 9

JS Lxﬁdx e 0 5. J el ;’m.?oﬁ

JLx>= (e

i &
4= ~
=5 An= —ly fcx)ws(nx)dx =-
7 T ———

=70

lm/]%f 7)4( = [M.‘Par
ﬁlm neg 40,4 2, ..



ES dLu)f &Sfa C&/m/ar [01 »éa.

b

{Cy) n(nx) ol)c

k\g—ﬁi

1
7
75
j cx\ A (NX) dx

7L’/; 7
S Sniny) dy +j7\ Sen (nx) 0/94)
/2 /2

K7
~(Cos(ry) ) - XL (Cesirnx) / )
n n 77/’/1,

= £<‘fﬂ5(%}r) 1 A zwség)

/
h n
n

{(x) X ¢ (owle) v (wlz %)
= /2, X= Tl

0 / ),/:7[_ yr X =©



Pg a) f(%) = e- [-1,1)
&b c«,&mm SfLZ) . lomo 7[ e; 74{/‘
[ fcx) Scn ﬂﬂ) dx = O

,/-..WJ

—L

lﬁ-yar
Aueso aa/o m&zmoJ a? ) An -
. A, = ij )Cdx- Zfldz“_é_.\

5
’ dn: i f Z COS(nsz)d)c = ZJ/Z’ Col(n7zx ) dyx
-

N

X Tartg - 4 (-0
Ao\ vew s (nm)*
Conclyw mos -
od n
j - LX) ﬁ.z 1) 608(/777%)
5/ 3 = (_/IZ@

b) fu - € en Lo,V
Considliramor o exrension o fgz,
F x€¢ [0 =]
-f-¥ x¢ [-7,0)



Cale\wmoJ . Sere 5}" co~ ?/Mf%r-
¢

T é"':% 5 ;Um Cos[’%r—x)dx - ©

T K

I Imper
Oo= 1 (" femde =o
waﬁo 666_(0 Glewnler Sn:
bn- li;;cx) sn(nx Vdx

x x
= Ljo €& Senir x) dr

¥
U= Sea(n z) av = e dy
du- cos(nxindx v= e”

70
:3/—[ 4

X X
S e'sn(n 0dy- Sen(n x)CX/ ‘nS€ Cof(n x)olx

0 Q0 0

V73
X
- |- J e Cos(n x)olx; U= Cstr x
Adu= ~Sen(n I ndx

X M
= - n (Cas(n x) e vlne Seatr x) dx

o 0



7w

n 70
“k( L«Hef 'fnj e fﬂx)dx)
N
L

K

T

’L(l ~ ('A)nf,w) ) fe Sen (nx) du
0

v

T J\ engn(ﬂX)dx’_ \ (L~[i)€ )
A A

n

0

CO/LC[M{WMS
S (x) = Z(—ML) (L-3e )lSm(/u:/
n=

]L I+n n




